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HE BIRST STERS

FACTORISING
MIXED FACTORS Ref: (i32().4 F 3
Al Factorise fully: A2 Factorise fully: A3 Factorise fully: A4 Factorise fully:

3ab+6a

2ab+6b

4a—6ab

9b—6ab

B1 Factorise fully: B2 Factorise fully: B3 Factorise fully: B4 Factorise fully:
2a’ +4a 12a-4a’ 12a’ +20a 8a" —6a
C1 Factorise fully: C2 Factorise fully: C3 Factorise fully: C4 Factorise fully:

15ab+ 5abc

2ab’c—8bc

4ab* +10a’b

8ab*c—12ac*

D1

Factorise fully:
3a* +9a°

D2

Factorise fully:

5a° +104°

D3

Factorise fully:
6a’ —15a’

D4

Factorise fully:
154’h—10a’

E1l

Factorise fully:
4a’b+16a’b

E2

Factorise fully:

12a°b-3a’b’

E3

Factorise fully:
10a’b* +25a°b

E4

Factorise fully:
8a°h’ — 6a’b’
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FACTORISING
MIXED FACTORS

Ref: (]22(».4 F 3

Al Factorise fully:
3ab+6a =3a(b+2)

A2

Factorise fully:
2ab+6b =2b(a +3)

A3 Factorise fully:
4a—6ab =2a(2-3b)

A4 Factorise fully:

9b—6ab = 3b(3-2a)

B1 Factorise fully:
2a° +4a =2a(a+2)

B2

Factorise fully:
12a—4a> =4a(3-a)

B3 Factorise fully:
124’ +20a = Ha(3a” + 5)

B4 Factorise fully:

8a* —6a =2a(4a® - 3)

C1 Factorise fully:
15ab+5abc = 5ab(3 +¢)

C2

Factorise fully:
2ab’c—8bc =2bc(ab-M)

C3 Factorise fully:
4ab’ +10a’b = 2ab(2b + 5a)

C4 Factorise fully:

8ab’c—12ac’ = lac(2b* - 3¢)

D1 Factorise fully:
3a* +94* = 3a*(a* +3)

D2

Factorise fully:
5a° +10a* = 5a*(a® + 2)

D3 Factorise fully:
6a’—15a" =3a°(2-5a")

D4 Factorise fully:

15a’b—104° = 5a°(3a°b - 2)

E1 Factorise fully:
4a’b+16a’b =4a’b(a +4)

E2

Factorise fully:
12a°b-3a’b* = 3a°b(4 - a?b?)

E3 Factorise fully:
10a’h* +25a°b
=5a°p(2b® + 5a®)

E4 Factorise fully:

8a°h’ —6a’b’
= 2a°b°(Ma" - 3b?)
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